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1. UIP, CPI and Carry Trade

(a)

Consider the CIP relation

(1+R) = 5 L+ R)F 0

and the UIP relation (assuming no risk premium)

(14+R) =(1+Ry) [Et (Sglﬂ (2)

where notation is standard. These two relations are often motivated using arbitrage
arguments. Explain how these two relations are derived using arbitrage arguments.

Another approach is to derive these relations using a small-open economy model. As-
sume that this model is populated by a representative agent that maximizes expected
lifetime utility

U=FEo)_ B'u(Cy,M/P) (3)
t=0

subject to the budget constraint measured in foreign currency units
S¢Bii1+ Biy = SiBi (1+ Ri1) + Bf (1+ Ri_,) (4)
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where notation is standard. Derive the first order conditions and show that these
imply both the CIP relation in equation (1) and the UIP relation in equation (2).
Summarize the empirical evidence on the CIP and the UIP relations above.

Explain, in words, how the empirical evidence on UIP can be exploited by formulating
carry trade strategies. Summarize the empirical findings related to carry trade. Is

it possible to obtain a significant excess return using carry trade?
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2. The Dornbusch overshooting model

Consider the Dornbusch overshooting model where we have added an exogenous risk

premium to the UIP relation

(a)

(b)

5
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p=n=(y"-v).

Explaine the main assumptions and economic mechanisms underlying the Dornbusch

(5)
(6)
m—p=ny—or (7)
(8)
(9)

model including an interpretation of the equations above.

Derive the money market and goods market equilibrium curves and illustrate the
model in a graph. Explain how the slopes of the money market and goods market
equilibrium curves are affected by the inclusion of an exogenous risk premium.

Derive the overshooting effect, i.e., derive an expression for j—rfl. What determines

the extent of overshooting?

Consider the Mundell-Fleming model. Illustrate the model in the y — s plane and
show how expansionary monetary policy affects the exchange rate and output. Com-
pare the results to the effects of expansionary monetary policy in the Dornbusch

model.

What are the main differences between the Dornbusch model and the Mundell-
Fleming model?



